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1
Source DF Sum of Squares Mean Square F Value Prob>F
Model 2 28526207.9440 14263103.9720 | 73.5310 0.0001
Error 13 2521654.7297 193973.44075
C Total 15 31047862.6740
Root MSE=440.4242 R-square=0.9188 Adj R—sq=0.9063
2
Variable Estimate Error Parameter=0 | Prob>ITI Inflation
INTERCEP | 508.4227 345.4892 1.4720 0.1649 0.0000
EXPORT 0.0081 0.0049 1.6720 0.1184 28.2958
INPORT 0.0032 0.0052 0.6160 0.5488 28.2958
° GDP =508.422671 +0.008139EXPORT +
0.003224INPORT
o 1.4720 1.6720 0.6160
1990 ~ 2005 0.1649 0.1184 0.5488
GDP R-square=0.9188
Adj R-square=0.9063
o Root MSE=440.4242
1990 ~2005 0.05
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3 K
MODEL | TYPE DEPVAR | RIDGE | RMSE | INTERCEP | EXPORT | INPORT | GDP
MODELI | RIDGEVIF | GDP | 0.0300 . . 41417 41417 | -1
MODELI | RIDGE | GDP__ [ 0.0300 | 442.8470 | 632.4180 | 0.0064 | 0.0049 | -1
MODELI | RIDGEVIF | GDP | 0.0400 . . 29081 | 29081 | -1
MODELI | RIDGE | GDP [ 0.0400 | 443.6680 | 6512350 | 0.0063 [ 0.0050 | -1
MODELI | RIDGEVIF | GDP | 0.0500 . . 21776 21776 | -1
MODELL | RIDGE | GDP | 0.0500 | 444.5030 | 667.0310 | 0.0061 | 0.0051 | -1
3
GDP  0.0063
GDP=651.2350+0.0063EXPORT GDP
+0.0050INPORT 0.0050
443.6680 0LS
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